Practice - Negative Exponents o

Simplify. Your answer should contain only positive expontents.
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RationalExponent Practice

ite i the real number systen

possible.
13 3

ay (-9 by 100 000°
72742 E b

el
28]

o

% &

m)x

% J
e al - = = 2
_ T e X e n "% “o
= - s T = Dol T on
— n o s P
s T2 2=l ® oaad =B
e ® — gl
— o v T en = . (:1 ° & Tnle -
o S = bt S o
A LY o = o 5 D )
@ = DA '"“0\]"' E = = g
¥ — x o a ~ o 7]
2 —_
= i R = =S ™ Rooeg i{;
h = ™ o
SR Mdle T 8 T =
Lo © = o B = e B g 'z
=z o I ® e T ~ = A
pr Rl T = .
® % ol @ == — I~
o g Yo ,L O~ "(,3 y = —
oy o | = o~ ©“ = o it o
‘\“ @ @
= = =N — o ] e o mI;Q
~— —_ - T o 5 fa 5
T & L5 2 e 85 7 X2 5
QN e x5 2 T B S
Ly w | o~ = o o
= o e - — [a¥ vy ™ o
< > © = o b= = & wie
° y
& e Rl B A -
g — oy
ag) uIN —_ T -2 i = o 3, =
~ W <+ T o ol 2
—_— <l ) =t <t 38} i pt
= = o - = = L —
o~ - —_ = = = = ®
= B R =l ~re
— i~ ~fn — Sy o © O\_INR )
L ~ 51 @ (-p,l(\]”* [ vy o~ —-—R
= = T - = X & = E=) fos

)



